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Since it was permitted for a need — TTED AN TINN

OVERVIEW

59 17 assumed the reason 99 27 ruled v"va 72102 W22 MK is since 7MAN is
permitted on ©v" for a need, it is also permitted when there is no need. NM»oIN
qualifies this leniency of "71n%', that there must be some need.

- WD) TN TNNY NIV 513 NAMD ZWD) TN TNNY 'Wrrss
The explanation of the phrase 71182 X5W "n1 7707 7N82 7MW 0 is, that since
a 1oK8?n is permitted for the sake of providing food for a person, it is also

permitted even if there is no need of w51 %X -
= 210 D%2 NINN OPP TN IN DN HNIN T XIYY 712929

Provided that a need of enjoying the 210 2y, or a need to fulfil a mx», which

needs to be done on ©''Y, is being met. MooIN offers examples of v"12 MEA QPP TN -
- (430 97 792) Y3 NINYY 29199 92 MDY NN 990 “99mY o *nxgrnT NN

Like those cases of taking out a Jup into a 7" in order to circumcise him, and

taking out a n"'® into a 7" to read it, or taking out a 2% to a 1" to fulfill the
mxn of @°1°n "7 N1, which the 7"2 permit -
— 251107 *DAN IR I XY Y95 01N T98Y XYY Yan

However if there is no 2177 9712 at all, like taking out stones, it is not permitted,
and he is (Mp%1) 2591 for doing a v"va 72X,

mooIn offers another example of 975 oY TNXY ROW:
— %91 199 1997 DIVN (4,80 97 0w) NPT IIRT RTON 299 TINY 290 01 NOIND)

And similarly one who bakes on v'"y for the weekday, according to 1'% who

maintains that he receives np»», since n"1 does not agree to the 2n°1 of 9N,
therefore baking 217 0" is 992 017 71%Y K7W, and therefore he is np15.

" The term w1 here is negating the view that 71n» applies even when there is no 93 7% as '0)n mentions shortly.
% These include the MR of XXM ,5wWan ,71°van ,umw, etc.
? Carrying on ©"v in a 7"711 is forbidden Xn»%7» unless there is 017 711 where we utilize the 9n°7 of Tinn.
* The mwn there (merely) states that 7"2 is 7°n» to carry out a n"oY 27 ,jup (without any qualifications); however
MooIN maintains that we may carry them 2"777% only 7% 7% (even though this 71%7 is not part of 0"y n¥n [like TP
1717]). See later in 'own (footnote # 17) that according to the "1 one may be X% a Jup even 2°v>.
> See the X there (X,2> 7%°2) that all agree that 0°1a% NXX7 is 710K,
6 727, there, maintains that one who is 2% v"vn 79 (he is cooking after he finished his v"y meal and does not
intend to eat any more on v"v) is 19, for we say that since [7°K¥1] some guests may come to him on v"v and he can
serve them the food he is baking 7117, and he will not be 2>n, therefore even though no guests actually came,
nevertheless he is 7wo. This is the 07 of %17, However 11"1 does not subscribe to this 707, therefore if one is 79X
51 v"vn there is no 995 4 7Y, and he is P>,
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mooIn anticipates some difficulties with his ruling that there must be a 21’77 77X:
- ¢3,5970v) Y90 1925 3997 121 A9 NOINY)

And regarding the ruling of 7"'2 who permit offering an 77271 n% on "', where
there is seemingly no i 77X -

mooIn responds:
- 750N 7349 19YI RN TINDY XA NOY DIVN 139N

That (7271 n2W) is permitted in order that it should not be a situation where
your table is full (there is ample food for all), and your master’s table (the ram)
is lacking (because there are no 7271 M7W) —

Another anticipated difficulty (in the opposite direction):'?
=999 19 NDIDT (0w ) 91 DINDIT NIPP P92 1399NT 1IN TINA NN NI

And regarding one who finds y»n in his house on 105, where 17 states in the

first P9 of 2°mo Noon, that he covers it with a utensil so he should not eat it -
- nm 01U 199UY 1959 XYY

So why do we not permit him to burn the y’1 on account of 71n»; for there is a
R"P2 MED OPP TNK?

mooIn responds:
- 190509 2YoNT ANPIN DIVN 193971 1991V NONRT DIVN 139N

That is because it is forbidden 31297%» to burn it, for it is 7Py which is
forbidden to be moved -

mooIN rejects an alternate solution to this question:
=902 Y99INRT 91997 PN DaN

However we cannot answer that the case of ¥22 1% 71910 is where he was Svan the
van and therefore there is no 7707 32 77X to burn it, this is not so -

7 An 7271 N9 is completely consumed on the n2i», so there is no X371 for the person, and this 77%» of bringing a 127p
7271, need not be done today; it can be done another time (as opposed to 21 2% p°n). However 7" certainly
allows to bring the X1 0?71 (the 127p one is required to bring when he is 231 79 to fulfill the m¥n of 15 NR AR’
P 7 [see 10,10 (7X7) 0°127]), without the a7 of TN, for this is oY MY OP 7YY, so there is no issue regarding
K1 N7 (according to 1"2).
8 This is amended to read R,
? Therefore it is permitted even though we do not say 71 in such a case (since it is T8 89w). Alternately, since it
is inappropriate to have 2on 727 177w X721 TN, it becomes a o7 TN for 0" NANY.
1% mooIn is questioning his previously mentioned premise that we apply Tin» to "2 m¥» o1p T (and not only to
arn nRmT 7x).
' One is obligated to destroy his y»r (continually) whenever he finds it on 1199 in his possession.
2 See “Thinking it over’ # 1 & 2.
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= QYN TN MM 199VH MINN 193957 0PN Yoy
For nevertheless, even if he was van the ynn, there is a 3312772 2% to burn it

and this would be considered a 2137 998 which would allow us to burn it on account of
Tnn -
- Buymin 41m50h NIINT NI 1999 53 1929 DINmaT

For by a 31297 mx» which we are obligated to do on v"v, we would also permit
doing a 70X%n where we can apply the 20> of 7.

mMooIN anticipates an additional difficulty:
= 199N 20 D2 NYIN ) HWANA (3,30 97 awa) D91 5%32) INNDY 192 99D9T XM

And that which w'2 and "2 argue regarding one who cooks a w7 753 on

v''ys and ate it, where -
- %519 998 100 105 5ORT 59N 1529 1Y 7NN 11D 95T INPY YT

According to w'"2 who do not agree with 7102, he is 77" and according to 17''2

who maintain 7302, he is not 51?Y9; how can we apply Tn» here; since this is a forbidden
food there is no 017 7MY —

mooIn responds:
- 7%9Y 25997 NOIN DIVN YOI AN 2PWN RYT 23 IY N Y PPN

It will be necessary to answer, even though that on one hand it is not

considered w1 218 because of the prohibition which is ‘riding’ on the nwin 3

(which explains why he is 7717 according to w"2) -
= 1150 DIONRT 19%3 NID DN TN DIPNI VN

Nevertheless it is considered 2177 9712 since he is eating it (it satiates his hunger), so
he is not 77 [only] on account of TIN» according to the 7"2.'°

mooIn discusses various cases whether they are 01°7 77X or not:
Yayn TME NN T90T 71PN NRNINT PNHYS 199297 NN

And it is the view of the >''1 that carrying out a child to a 7" to play with him
is a @17 9N -

" See o mX2 who explains that 7"2 rules that one is permitted to carry out a 2% on naw without any
qualifications; meaning even if it is one of the later days of m210 where the 1% of 2717 n°v1 is only 12777,
“1f cooking this w17 73 is considered wo1 22K, since he is eating it, there is no need for Tn» (and w"a should also
be 7°nn), if it is not considered w1 931X since it is MOK, so there is no a1 71X for it is a MOR 7IRA.
' That is why it is 0K to cook the 7w31 73, if not for the A% of T,
1 He had in mind to eat it when he cooked it. See X377 71"7 2,30 77%°2 'O,
7 The *"7 maintains that the ova 7% which is required does not necessarily have to be v"» nmaw JNE% (as
mentioned previously in mooin that it needs to be D17 NRIT TXY [or M¥H TNEY]), but rather any o»i TN is
sufficient (even if it is not 0" nnnY 77%7) as taking out a child 2v%. See footnote # 4.
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= 9YONRT NI 299 TNEY NN 1M
However it seems that carrying out something into a 7"717 for a gentile’s need is
forbidden'® —

mooIn finds a discrepancy in this ruling:
= ©N9AN )2 PYNY 2299 AN 191 993 TNEY NN NNY NNIY N

And initially'® it was the view of the X"aw- that the reason for the custom

nowadays to carry out something for a gentile is -
- ann 170 19209 PRT 2099195 RIX M0 XY 1197 £2290 MYIT DIVN

Because our 2'"'771 is only a n 97> since they are not wide sixteen NN -
- 7329 991 XY 290 DY 52N

And on ©'"'y the 3321 did not decree not to carry into a n°2»7> (as they were 71 for naw) —

moon offers proof that we are more lenient by v"1> than on n2w:
- %290 o132 Pmas8n 521999 1929 10 89T 9951 95

Just as the 3329 did not institute N335 52195 on ©''Y, similarly they were not 71 the
FIRYYT 7I0°K by N9m15 on vy —

mooIn offers a proof that the 71127 did not institute N17%A °217°Y on v"Y’ -
- %5519 naY 29 71AY YAY 210 O ININRT (3,10 97 NYPAT 1Y 799 V91 ynYunNTo

As it seems in the beginning of the second P92 of 17%%2 noon where the Xn>72

states if a ©''v occurred on naw 39y, etc. -
- Zpinm 529999 XY SN 79980 32995 1929910 AN 529

'8 This (minimal) 2171 718 which is sufficient is only if it is Y%7 T1%Y, but not "3 TN
1 See later in this nooMN (by footnote # 34 [in the text]).
% A n*9m13 is a M which does not qualify for either a 7" or a >"77. According to 7N law one is permitted to
carry in (and out of) a n"on73. However, the 031 were 113 that one may not carry from either a 7"711 or °"777 into a
o730 and vice versa, as well as not carrying nnK "7 in a n*on03.
2! We derive from the 7"77 in the 1277 in the times of the 1own that the width of the 2"177 is (at least) sixteen.
22 The 710°X of IX¥YT on MW (where there is an 720 MO°X) is more stringent than on v"1 (where it is ‘only’ an MK
X?), therefore the 0°no1 were 713 by a n°7173 only on N2aw, but not on v"v.
# ny¥n 2177 is the Rabbinic requirement to make an 2179 (placing food from all the members of the 217° in one
place) to allow carrying on naw from private domains (an apartment, for instance) to a shared domain (the common
hallways of the building) which are all *"717. Otherwise, 1312772 one may not carry from one *"77 to another 77
(which belongs to a different party or parties).
** On v"y one may carry from one M1 to another [or common] N even if no M7%R >Ny was made.
» The p"n there maintains that in this situation we are not permitted to make either M7°%n *17°Y or PPIAN >217°Y on
u" (which is naw 27v) for the sake of Naw, because we are preparing something on v"v, which is not for the sake of
©"y (but rather for the naw which follows it).
26 pminn 217w allows the person to walk an additional naw 2wn (two thousand nnx), from the place where he placed
the 217"y (which must be within a naw onn where he is currently residing).
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29 maintains one may make n19°277 5219%y, but not 1270 523197y -
- 249 95917 9272 19DIN AN INY 719 MYOND 9272 19DIN DINNY 29Y

Because you may prohibit him in something which he is already prohibited,

but you cannot prohibit him in something which he is already permitted -
- 209517993 1913 N9 110 RINY 210 0% MHIPYN Y219Y PN RY RNIYN

It is evident (from the statement 1% 201277 7272 170X 70K °XY) that the 2201 did not
institute n17°27 5219 on v, and the same applies that they did not issue a

decree against carrying in a n°»%29> on v"v, therefore nowadays where there is no "7
XN>7IRT only a 1312771 N°9n7, it is permitted to carry into a N°91n73 even 121 TNXY only.

mooIn anticipates a difficulty with the aforementioned that there is no 11"y on v"v:
= (owI§,2 97 NIN2T NP P99 (ow) N, 97 mndad) 19 yamx 7993 19 N1PT N

And regarding this which we have established in Y» 28 P22 and in the first
=9 of ;733 NHoN -

- 22y DY AN 299y YW1
That there is 7R3 219% on ©''Y; presumably referring to 1"y, which contradicts this
which '01n just assumed that there is no (need for) M7°%m °217°Y on v"» —

mooIn replies:
- 215901 2219593 59587 NXI)

It seems that the term 217°Y there means %20 92195 but not M%7 7.

In summation; the X"2w1 maintains one is permitted to carry on v"y even >33 T2, since today
there is no Xn»7IX7 7"77, only a N*H»73, and the 13127 were not IR¥IT MOK T3 by a N¥%1 on "y,
just as they did not require 1"y on 0",

The &'"2w" retracts his previous statement that we may carry for a *732:
=590 MINT NY11950 NINN THIDT PR NANIYN NINRY I8NNT I 9N 1YY

7T It is forbidden to go outside the (n2w) omn (even) on v"v, therefore one cannot make 721170 *217°Y on v"v.
® This (seemingly [see later footnote # 40]) means that since on v" one is permitted to carry from one 9%n to
another without n17°xr *2117°Y, therefore one is permitted to make M7°X7 >117°Y on "y for naw.
¥ Since 2N is MOR on v"v, therefore making an Pmnn 217y (even for nNaw) is considered jpnn, preparing
something (which is 710X); however since there is no need for N17°%17 °217°Y on v"Y, making an 11"¥ on v"y (for NAW) is
g g
not considered as one is preparing something substantial, since it is permitted today even without 1"y.
0 See ‘Thinking it over’ # 3.
31 See w"wn who deletes the words 9 11X 792" (for there the X71x discusses 2"77°, and [additionally] the X nx there
y
concludes 2"71°% AR Y PR).
?2 There is an MW MW M 7RI MK on v"v and (therefore there are) also the rules regarding making an 1"y on v"v.
are more stringent than , since there is some support to in the 77n. The | in
33 TN 1Y tringent than m7°2n 277w th pport t n"v in the 7N, The 100 mnw
v2,T0 [M7w3a]) of 1Mpnn WK RY 98 is quoted as a source (or an XN310R) for the 1IN MOX.
5
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And later the X"2v1 retracted, for we cannot derive a leniency by a n"»»> from

a N3N TIRW %A, since the laws of N1 are stricter™ than the laws of 1"y -
- (3, 91 AV NI0NA SINYraY ms

As I explained in naw 'on.

mooIn presents an additional difficulty on the X"2aw":
- 595559 M1928N 5219593 29V DPY IRNNY 2199y YT 19 NPT RNT ORI NI

And additionally it seems that this which we have established that there is

IREYTY 217%Y for v'"'Y, it is referring to NYNXM 92199 (and not to PPN Y as the
X"2w" claimed previously) —

mooIN proves his point that v"v% 217°Y refers to MR V!
= D951 DY NINYINI 299Y PPNRT (0w &, 97 Mmm23) 19 YIIN P92 993912 Y1)

Since the X723 wanted to derive in ¥ %2R 22, that there is no X237 2979 on

2'"'Y (that one may carry on Mw? Mwn ") -
- 72551 1592 XN NAY NNA BN BN PNTN

From the mw» which states there that »n"1 rules if 2" occurred on a P22 and he

carried it out with his mouth, he is liable for an additional nxvn for transgressing the
TRXIT 719°K on N2w, but he will not be 21» this extra nXvn if it is a regular 3", which occurred
on a weekday; indicating that there is no 7IX¥)7 719°X on 2"’ -

= 20 DY NANRYIN 2999 PRT PT91IY YA (0w &3> 91 NN23 199

And similarly in 7733 n2o»n where 727 wanted to infer that there is no 21w

TNV on v -
- %a9v9) Ju NI¥YNY Y9N 1% IV

Since 77"'2 permitted to carry out into a 1"777 a minor or a 2%7%. In both places the
X3 said 121 ARXIT 2177 7R even though the discussion is (only) about X7 -
= ANSIN IV 929V N NN RNWAT MISN 229958 1399

So we must say that the 217°Y there means n19°2n 32y%y, for then (if 217"y means
n"y) it can be properly proven that there is no 217"y for either 3"y or v"v, since
IR is permitted nw? mwn it follows that 1"y are also not required -

** The mawn in X,5p N2W teaches that in the case of a fire one is permitted to carry objects from the fire to a 9%
na7yna. However 77702 72 permits to take it even into a N27¥» 7KW xn. However even 77°N1 12 agrees that it may
not be taken into a nN°9112; proving the N*2»715 MO°K is more stringent than N°¥n "7,
> See 'o1n there wHw 7",
38 Therefore there is no basis for the leniency of the X"2wA (even if the n*>73 Mo°X would not be more stringent than
mXn "217%w), for there is no leniency (even) regarding 1"y on 0",
" The nwn there states that it is possible to eat one 77°2x on 3"1* and be liable to bring four nXvr M2 and one 1277
awx. »'"7 adds that he can be liable for a fifth nxon.
% This is not a valid proof because 7"2 can maintain that it is permitted because of TInn.
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- AN DIVN KIX MM 22PN 1939 198 N7
For the 3129 did not decree the need for 1"v only because they were concerned

about 7INX7. It therefore follows if there is no 7X¥7 70°X (on "1 or ©") there is no need for
n"y. Therefore the X713 says 121 ARXIM (M°XM) 2177 PX -
= ANSIND N32Y PPN PNIND 22999y AN

However the requirement for n"y has no connection to 7RX¥7. So when the X3
lumps together X171 217°Y it must be referring to 1"y.

Moo responds to the anticipated difficulty:*

27985 09115 AT DIYN 19950 19 AN 9373 1IDIN DAN SN NPT N
And that which the X773 said (regarding the ruling of °27 that 27y7 XY "y 12797
n"y) ‘but you cannot prohibit him in something in which he is permitted’, that

is because he is permitted to carry out into the 7"77 for a v"y need, because of
N7, but not that there is no 1°7 of 1"¥ on ©" (where there is no 7MX at all).

SUMMARY

The 2n°77 of 77 is only if it is 2 (NXI7) TNLY (even if it is not D17 AW TR
according to the >"1) or v"va mxn orp TN%Y. The laws of 0"y apply to v"y as well
and we are not permitted to carry >33 7M.

THINKING IT OVER

1. mooIn writes that we cannot burn ¥ on ©"Y since it is nxpm.“z However one is
permitted to move w91 92X TNXY 71X, so why do we not say regarding the 0K
%P1 (which is only a 131277) that 71¥7 7MX5 21 7907 W1 92IR TNE? 70w 7107 (as
we say regarding 8n» K7 110°%) 21"

2. May one burn ynr1 on ©v"1 if he does not move it,44 so there is no MO°X of M5V
P2

** The o'non were concerned if we would allow people to carry from their private residences (which is a >"717) to a
common area where many people have a right to be there (which makes it similar to a 7";17 [even though legally it is
a "), people may mistakenly assume that we may carry from a "1 to a (real) 7"7".
“1If on 1" we are also prohibited from carrying mwa> nwn without an 217y, what did *27 mean when he said one
is permitted to make an 11"y on v"1, since 12 NI 7272 110 ANK X (see footnote # 28), since on v"1 there is also the
requirement for 1"y.
*I See “Thinking it over’# 4.
2 See footnote # 12.
* See "> mx 7"0.
* See footnote # 12.
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3. According to Mmoo initial view that there is no N5 7' on v",* is one
permitted to carry into a n°112 on v"v even if it is 922 7EY XHw?

4. mooIn concludes that the meaning of 12 2N 9272 170X 70X °X) means that it is
TN (without mA¥n *217w) if it is 7M¥Y, for then we say Tinn.*’ Seemingly we
should also say 71nn regarding 120 217y (for what 1s the difference); so why
does °21 say regarding n"¥ that 12 70X 1272 170K 70K, since by n"y we should also
say 1M as we say by n"y?1*

4 See " P"0 R"aN21 R"MI2 R"D van "o iR ¥™Mw and in 2 P"0 oW X™MpY T A0 oW TIRTR ¥MW.
4 See footnote # 30.
47 See footnote # 41.
8 See TN X"wAn and Mo,
8

TosfosInEnglish.com



